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Which of the following is used to measure atmospheric pressure 7
(A) Hygrometer (B) Barometer
(C) Sphygpmomanometer (D Altimeter

Guru Sikhar is the mountain peak of :
(A} Shiwalk (B) Aravali
(C) Karakoram (T3} Nilgini

Malin village experienced severe landslide in 2014, Tt s in :
(A) Siklam {B) Manipur
(C) Madhya Pradesh (D) Maharashira

When was the last census of population condueted in India ?
(A) 2001 (B) 2011
(C) 2010 (D) 2012

Which of the following States was most recently reorganized ?
{A) Madhya Pradesh (B) Bihar
() Andhra Pradesh (D) Utar Pradesh

The point inside the earth where earthquake triggers is called :
(A) Focus (B) Epicenter
(€) Centroad (D) Geocentre

How many seismic zones are there in India ?

(A} Two (B} Thres

()} Four (1 Five
Fukushimaisin:

(A) Korea (B} Indonesia

{C) Japan (D) Malaysia
Kutch is in the :

{A) EastofCnjarat (B) Westof Gujarat
(C) South East of Gujarat (D) South of Gujarat
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10. The territorial water of India extends into the sea to a distance of nautical mil
measured from the appropriate base line :
(A) 12 (B) 15
(C) 250 (D) 7

1. Which of the following is & cvclic resource ?

(A} Solar {B) Warter
(C) Wind (D) Coal
12. Which of the following is incorrectly matched ?
(A) Kodremukh: Kamataka (B} Bailadila: Chattisgarh
(€} ‘Kumool: Tamil Nadu (D} Panna: Madhya Pradesh

13. Which State after Uttar Pradesh shares the largest propoertion of population of Indig 2
(A) Bihar (B) West Benpal
{C) Maharashira {1} Andhra Pradesh

14, Which of the following States is not crossed by Tropic of Cancer ?
(A) Rajasthan (B) Chattisgarh
(C) Manipur (D) Madhva Pradesh

15, Lake Chilka is located in :
(A} Odisha (B) Andhra Pradesh
(C) Rajasthan (D) West Bengal

16. Match the following

Places State

(i) Riasi (@) Odisha

(i) Koraput (b) Assam

{ifi) Digboi {c) West Bengal

(iv) Asansol (d) Jharkhand

(¢} Jammu & Kashmir

® @ (i) {iv)

{A) g a b d

(B} d a b e

(C) ¢ a b c

() e = B a
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17. Which of the crops is best suited for black soil 7
(A) Wheat (B) Paddy
(C) Cotton (D) Jue

18. What is the correct order of our atmespheric lavers 7
{A) Troposphere, Ozonosphere, Mesosphere, Thermosphere
(B} Troposphere, Stratopause, Tropopause, Thermosphere
{(C) OCzonosphere, Tropopause, Mesopause, Thermosphere
(D) Tropopause, Biosphere, Thermosphere, Atmosphere

19. CFCsstand for :

(A) Centrul Forensic Centres (B) Chloro Auoro carbons

(C) Chlorine Fluorine Compounds (D) Combined family of carbons
20. The standard atmospheric pressure at sea js:

(A) 900 mb {(B) 1000mb

(C) 1013 mb (D) 1023'mb
21, The rate of decline in temperature with altitude in the tropesphereis :

(A) 65°Cper 100m (B) 6.5°C per T000 m

(C) 65°Cper I0m (D} 6.5 °C perl00 km

22, Totieorin isin ;

(A) Tamil Nadu (B) Andhm Pradesh
{(€) Kerala (D) Odisha
23, Anemometer is used for measuring :
(A) Humidity (B) Precipitation
(C) Atmosphenc pressure () Wind speed
24. Which of the following is not a planetary wind 7
{A) Trade wind (B) Westerlies
{C) Polarwinds (I} Monsoon

23. Which of the following places will receive vertical rays of the sun twice in a year in
different months ?
(A)  Gwalior {B) Delhi
(C) Chenna (D) Jabalpur
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Which of the following nuclear plants (including proposed) is imecorrectly matehed ?

(A} Kudankulam
(B) Terapur
(C} Jaitapur
(DM Gorakhpur

Shifting cultivation is called :
(A)  Jheming
(C) Exiensive

Termi] Nadu
Maharashira
Kamataka
Haryana

{B) Sedentary
(D) Comemerciz!

Which of the following is a surface wave ?

(A) L
(C) 8

(B) P
(D} Pushwaves

Which of the following spectral ranges denote visible light ?

(A) 0.2w0.5um
fC) 0.4t00.8 um

Which one of the following is referred to as India Standard Time Meridian ?

(A) B2°3(r

() 82°30°'W longitude (D) 67 longitude 1
Latur is in *
(A) Mahareshira (B) Tamil Nadu
{C) Rajasthan {D) Kamataka
- The easternmost longitude of Tndia is -
(A) 97°25'E (B) 7T7°6E
(C) 68°TE () 82*32'E

Uttarakhand, Uttar Pradesh, Bihar,
(A) China
{C) Bhutan

Ifyouintend to visit Kavarati during yoursummer vacations, which one of the following Union Territories

of India you will be going to ?
(A} Puducherry
(C) Lakshadweep

Musters in Disaster Management/BGI-31187-4

(B} 0.4t00.7um
(1) 0.210,7 um

{B) 82°30" E longitude

West Bengal and Sikkim have commaon fronticrs with :

(B} Nepal
(D) Myammar

{B) Andaman and Nicobar
(D) Diuand Daman
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35. My friend hails from a country which does not share land houndary with India, Identify the

(A} Bhutan (B) Bangladesh
(C) Tayikistan (D) Nepal

36. A landmass bounded by sea on three sides is referred to as ;
(A) Coast (B) Pendnsula
(C) Island (D) Archipelago

37. Mountain ranges in the eastern part of India forming its boundary with Myanmar are ¢o

called as :
(A) Himachal (B) Purvachal
{C) Uttarakhand (1) Kirthar
38, The western coastal strip, south of Goa is referred o as -
{A) Coromangdel (B) Kannad
(C) Konkan (B Northern Circar

39. The highest peak in the Fastern Ghats s :
(A) Anm Mudi ' (B) Mahendragi
(€) Kanchenjunga (D) Khasi

40. India’s only active voleano is found on Barren Island in :
(A) Andarman & Nicobhar Islands (B) Lakshadweep
(C) Dadar & Nagar Havel; (I¥) West Bengal

41. In which of the following States is the Wular Lake located ?
(A) Rajasthan (B) Punjab
(C) Urtar Pradesh (D) Jammuwand Kashmir

42. The river Narmada has its source At :
{A) Satpura () Amarkantak
(C) Brihmagin (D) Slopes of the Western Ghats

43. Which one of the following lakes is a salt water lake ?
(A) Sambhar (B) Wular
(C) Dal (D) Gobind Sagar
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Which oneé of the fullowing is the longest river of the Peninsular India
(A) Narmada {B) Godavari
(C) Krishna (D) Mahanadi

Which nne amongst the following rivers flows through a vift valley ©
(A) Mahanadi (B} Krishna
() Tungabhadra (D) Tapi

Which one of the following type of resouree is iron ore T
(A) Renewable {B) Flow
(C) Biotic (D) Non-renewable

Under which of the following type of resource can tidal energy be put ?
(A) Replenishable (1) Abiotic
(C) Human-made (T} Non-recyclable

Which one of the following is the main cause of land degradation in Punjab @
(A) Intensive cultivabion (B} Ower imgation
(C) Deforestation (¥ Overgrazing

In which onc of the following States is terrace cultivation practised ?

(A} Punjab @ H

In which of the following States is black soil found ?
(A) Jarmmuand Kashmir (R} Rajasthan
{C) Cujarat (D} Jharkhand

Laterite has been derived from the Latin word ‘Jater’ which means :

(A) Bock (B} Water
(C} Forest (1 Sand
Downs is grassland found in :

(A) Australia (B) Anmenting
(Cy Russin (D Mexico

Mastersis Disaster Management/BGI-31157-A a_.
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India’s National Forest Policy 1988 aims a¢ maintaining percent of the geographical ares
under forest and tree cover,

(A) 25 (B) 33

(C) 66 D) 30

Which of the following is the first State in India which has made rogf top raimwater harvesting structure
compulsory to all the houses across the state '
(A) Tamil Nadu (B) Kerala
(C) Gujary D) Punjah

water of the river Ganga at :
(A) Kampti (B) Sringaverapura
{C) Koshi (D) Gorakhpur

According to Fﬂﬂil‘_‘l‘lmn.rk, a Ew-nﬂiﬂ.h-ﬂpeﬂ. water stress occurs when water availability is between :
(A) 1,000and | 600 cuibic meter per PETS0n per vear

(B} 2,000 and 2,500 ey bic meter per PErS0n per vear

(C) 100 and 250 cubic meter PET person per vear

(DY) L.600and 2 500 cubic meter per person per vear

A} 75 percent (B) 78 percent
pe P
(C) 96.5 per cent (D) 9.5 per cent

Which one of the following is 5 leguminous crop ?

(A) Pulses By Millets

(C) Jawar (D) Sesamum
- Inﬂi:’spnpuhﬁnugtm‘hy percent during 2001-11,

(A} 10.] (B) 15

(C) 17.7 (D) 2335

The density of population PErsquare kilometer in India jn 2011 census was recorded as :
(A) 325 persons (B} 382 persons
(C) 423 persons (D) 350 persons
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61, Which ofthe following is associated with climate change 7
(A) FAO (B) NDMA
(¢) UNISDR @y wee
¢1. ‘Thechild sex patin in 2011 census in Indin was per 1000 miale children.
(A) 918 (B) 930
(C) 935 (D) 960
3. Which of the following is the most dominant gas in the atmosphere 7
(A) Hydrogen (B) Oxygen
(7 Carbon dioxide (D) Nitrogen
4. EINino is associated with :
{A) |ndustries (B) Monsoon
(Cy Saellites (D) Cyelones
65. Hudhud evelone derives its name after a :
(A) Bid @) River
(C) Reptle (D) Mirmizmn
g6, Tribhuvan nternational Ajrportisin:
(&) India (B Indinesia
() Nepal () Bhutan
§7. Freshwater may be lotic or lentic. The word lotic is nsed for:
(A) Standing waler (B Running wates
(C)y Frozen Water (D) Gaseous water
68. Organisms that produce their own food are called :
(A) Heteratrophs By Macro CONSUMErs
{C) Autotrophs D) Micro COnNSUmMETs
9. Which of the following is 2 marsapial ?
(A) Kangaroo @) Camel
(C) Lion (D) Parrot
Masters in Disaster i"r'i.unngtmzu'h’ﬂﬂlai 187-A i
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70. Which of the following pesticides is most dominantly used in India ?
(A) Funmecide (B) Herbicude
(C) Weedicide (1) Insecticide

71. Carbon monoxide affects :
(A) Oxygen carrying capacity of blood (B) Skin
(C) Bones (D) Evesight

72, 'Which of the following is not a disease related to polluted water ?
{A) Cholera (B) Typhoid
(C) Dengue {13y Diarrhoes

73. The unit decibel is used to measure :

(A} Sound (B) SPM

(C) Purity of water (D) Air pressure
74. 'What percentage of Population in India lives inurbam areas 2

(A) 31 (B) 25

(C) 40 (D) 42

75, Which of the following is the apex authority for disaster management in India ?

(A) NIRM (B) NDRF
(C) NDMA (D) NDA
Musters in Disaster MansgementBGI-31187-A 11
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Masters in Disaster Management/A

Which of the following is used to measure atmospheric pressure 7
(A) Hygrometer (B) Barometer
(C) Sphygpmomanometer (D Altimeter

Guru Sikhar is the mountain peak of :
(A} Shiwalk (B) Aravali
(C) Karakoram (T3} Nilgini

Malin village experienced severe landslide in 2014, Tt s in :
(A) Siklam {B) Manipur
(C) Madhya Pradesh (D) Maharashira

When was the last census of population condueted in India ?
(A) 2001 (B) 2011
(C) 2010 (D) 2012

Which of the following States was most recently reorganized ?
{A) Madhya Pradesh (B) Bihar
() Andhra Pradesh (D) Utar Pradesh

The point inside the earth where earthquake triggers is called :
(A) Focus (B) Epicenter
(€) Centroad (D) Geocentre

How many seismic zones are there in India ?

(A} Two (B} Thres

()} Four (1 Five
Fukushimaisin:

(A) Korea (B} Indonesia

{C) Japan (D) Malaysia
Kutch is in the :

{A) EastofCnjarat (B) Westof Gujarat
(C) South East of Gujarat (D) South of Gujarat
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10. The territorial water of India extends into the sea to a distance of nautical mil
measured from the appropriate base line :
(A) 12 (B) 15
(C) 250 (D) 7

1. Which of the following is & cvclic resource ?

(A} Solar {B) Warter
(C) Wind (D) Coal
12. Which of the following is incorrectly matched ?
(A) Kodremukh: Kamataka (B} Bailadila: Chattisgarh
(€} ‘Kumool: Tamil Nadu (D} Panna: Madhya Pradesh

13. Which State after Uttar Pradesh shares the largest propoertion of population of Indig 2
(A) Bihar (B) West Benpal
{C) Maharashira {1} Andhra Pradesh

14, Which of the following States is not crossed by Tropic of Cancer ?
(A) Rajasthan (B) Chattisgarh
(C) Manipur (D) Madhva Pradesh

15, Lake Chilka is located in :
(A} Odisha (B) Andhra Pradesh
(C) Rajasthan (D) West Bengal

16. Match the following

Places State

(i) Riasi (@) Odisha

(i) Koraput (b) Assam

{ifi) Digboi {c) West Bengal

(iv) Asansol (d) Jharkhand

(¢} Jammu & Kashmir

® @ (i) {iv)

{A) g a b d

(B} d a b e

(C) ¢ a b c

() e = B a
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17. Which of the crops is best suited for black soil 7
(A) Wheat (B) Paddy
(C) Cotton (D) Jue

18. What is the correct order of our atmespheric lavers 7
{A) Troposphere, Ozonosphere, Mesosphere, Thermosphere
(B} Troposphere, Stratopause, Tropopause, Thermosphere
{(C) OCzonosphere, Tropopause, Mesopause, Thermosphere
(D) Tropopause, Biosphere, Thermosphere, Atmosphere

19. CFCsstand for :

(A) Centrul Forensic Centres (B) Chloro Auoro carbons

(C) Chlorine Fluorine Compounds (D) Combined family of carbons
20. The standard atmospheric pressure at sea js:

(A) 900 mb {(B) 1000mb

(C) 1013 mb (D) 1023'mb
21, The rate of decline in temperature with altitude in the tropesphereis :

(A) 65°Cper 100m (B) 6.5°C per T000 m

(C) 65°Cper I0m (D} 6.5 °C perl00 km

22, Totieorin isin ;

(A) Tamil Nadu (B) Andhm Pradesh
{(€) Kerala (D) Odisha
23, Anemometer is used for measuring :
(A) Humidity (B) Precipitation
(C) Atmosphenc pressure () Wind speed
24. Which of the following is not a planetary wind 7
{A) Trade wind (B) Westerlies
{C) Polarwinds (I} Monsoon

23. Which of the following places will receive vertical rays of the sun twice in a year in
different months ?
(A)  Gwalior {B) Delhi
(C) Chenna (D) Jabalpur
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Which of the following nuclear plants (including proposed) is imecorrectly matehed ?

(A} Kudankulam
(B) Terapur
(C} Jaitapur
(DM Gorakhpur

Shifting cultivation is called :
(A)  Jheming
(C) Exiensive

Termi] Nadu
Maharashira
Kamataka
Haryana

{B) Sedentary
(D) Comemerciz!

Which of the following is a surface wave ?

(A) L
(C) 8

(B) P
(D} Pushwaves

Which of the following spectral ranges denote visible light ?

(A) 0.2w0.5um
fC) 0.4t00.8 um

Which one of the following is referred to as India Standard Time Meridian ?

(A) B2°3(r

() 82°30°'W longitude (D) 67 longitude 1
Latur is in *
(A) Mahareshira (B) Tamil Nadu
{C) Rajasthan {D) Kamataka
- The easternmost longitude of Tndia is -
(A) 97°25'E (B) 7T7°6E
(C) 68°TE () 82*32'E

Uttarakhand, Uttar Pradesh, Bihar,
(A) China
{C) Bhutan

Ifyouintend to visit Kavarati during yoursummer vacations, which one of the following Union Territories

of India you will be going to ?
(A} Puducherry
(C) Lakshadweep

Musters in Disaster Management/BGI-31187-4

(B} 0.4t00.7um
(1) 0.210,7 um

{B) 82°30" E longitude

West Bengal and Sikkim have commaon fronticrs with :

(B} Nepal
(D) Myammar

{B) Andaman and Nicobar
(D) Diuand Daman
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35. My friend hails from a country which does not share land houndary with India, Identify the

(A} Bhutan (B) Bangladesh
(C) Tayikistan (D) Nepal

36. A landmass bounded by sea on three sides is referred to as ;
(A) Coast (B) Pendnsula
(C) Island (D) Archipelago

37. Mountain ranges in the eastern part of India forming its boundary with Myanmar are ¢o

called as :
(A) Himachal (B) Purvachal
{C) Uttarakhand (1) Kirthar
38, The western coastal strip, south of Goa is referred o as -
{A) Coromangdel (B) Kannad
(C) Konkan (B Northern Circar

39. The highest peak in the Fastern Ghats s :
(A) Anm Mudi ' (B) Mahendragi
(€) Kanchenjunga (D) Khasi

40. India’s only active voleano is found on Barren Island in :
(A) Andarman & Nicobhar Islands (B) Lakshadweep
(C) Dadar & Nagar Havel; (I¥) West Bengal

41. In which of the following States is the Wular Lake located ?
(A) Rajasthan (B) Punjab
(C) Urtar Pradesh (D) Jammuwand Kashmir

42. The river Narmada has its source At :
{A) Satpura () Amarkantak
(C) Brihmagin (D) Slopes of the Western Ghats

43. Which one of the following lakes is a salt water lake ?
(A) Sambhar (B) Wular
(C) Dal (D) Gobind Sagar
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Which oneé of the fullowing is the longest river of the Peninsular India
(A) Narmada {B) Godavari
(C) Krishna (D) Mahanadi

Which nne amongst the following rivers flows through a vift valley ©
(A) Mahanadi (B} Krishna
() Tungabhadra (D) Tapi

Which one of the following type of resouree is iron ore T
(A) Renewable {B) Flow
(C) Biotic (D) Non-renewable

Under which of the following type of resource can tidal energy be put ?
(A) Replenishable (1) Abiotic
(C) Human-made (T} Non-recyclable

Which one of the following is the main cause of land degradation in Punjab @
(A) Intensive cultivabion (B} Ower imgation
(C) Deforestation (¥ Overgrazing

In which onc of the following States is terrace cultivation practised ?

(A} Punjab @ H

In which of the following States is black soil found ?
(A) Jarmmuand Kashmir (R} Rajasthan
{C) Cujarat (D} Jharkhand

Laterite has been derived from the Latin word ‘Jater’ which means :

(A) Bock (B} Water
(C} Forest (1 Sand
Downs is grassland found in :

(A) Australia (B) Anmenting
(Cy Russin (D Mexico
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India’s National Forest Policy 1988 aims a¢ maintaining percent of the geographical ares
under forest and tree cover,

(A) 25 (B) 33

(C) 66 D) 30

Which of the following is the first State in India which has made rogf top raimwater harvesting structure
compulsory to all the houses across the state '
(A) Tamil Nadu (B) Kerala
(C) Gujary D) Punjah

water of the river Ganga at :
(A) Kampti (B) Sringaverapura
{C) Koshi (D) Gorakhpur

According to Fﬂﬂil‘_‘l‘lmn.rk, a Ew-nﬂiﬂ.h-ﬂpeﬂ. water stress occurs when water availability is between :
(A) 1,000and | 600 cuibic meter per PETS0n per vear

(B} 2,000 and 2,500 ey bic meter per PErS0n per vear

(C) 100 and 250 cubic meter PET person per vear

(DY) L.600and 2 500 cubic meter per person per vear

A} 75 percent (B) 78 percent
pe P
(C) 96.5 per cent (D) 9.5 per cent

Which one of the following is 5 leguminous crop ?

(A) Pulses By Millets

(C) Jawar (D) Sesamum
- Inﬂi:’spnpuhﬁnugtm‘hy percent during 2001-11,

(A} 10.] (B) 15

(C) 17.7 (D) 2335

The density of population PErsquare kilometer in India jn 2011 census was recorded as :
(A) 325 persons (B} 382 persons
(C) 423 persons (D) 350 persons

(Tarn over

o



61, Which ofthe following is associated with climate change 7
(A) FAO (B) NDMA
(¢) UNISDR @y wee
¢1. ‘Thechild sex patin in 2011 census in Indin was per 1000 miale children.
(A) 918 (B) 930
(C) 935 (D) 960
3. Which of the following is the most dominant gas in the atmosphere 7
(A) Hydrogen (B) Oxygen
(7 Carbon dioxide (D) Nitrogen
4. EINino is associated with :
{A) |ndustries (B) Monsoon
(Cy Saellites (D) Cyelones
65. Hudhud evelone derives its name after a :
(A) Bid @) River
(C) Reptle (D) Mirmizmn
g6, Tribhuvan nternational Ajrportisin:
(&) India (B Indinesia
() Nepal () Bhutan
§7. Freshwater may be lotic or lentic. The word lotic is nsed for:
(A) Standing waler (B Running wates
(C)y Frozen Water (D) Gaseous water
68. Organisms that produce their own food are called :
(A) Heteratrophs By Macro CONSUMErs
{C) Autotrophs D) Micro COnNSUmMETs
9. Which of the following is 2 marsapial ?
(A) Kangaroo @) Camel
(C) Lion (D) Parrot
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70. Which of the following pesticides is most dominantly used in India ?
(A) Funmecide (B) Herbicude
(C) Weedicide (1) Insecticide

71. Carbon monoxide affects :
(A) Oxygen carrying capacity of blood (B) Skin
(C) Bones (D) Evesight

72, 'Which of the following is not a disease related to polluted water ?
{A) Cholera (B) Typhoid
(C) Dengue {13y Diarrhoes

73. The unit decibel is used to measure :

(A} Sound (B) SPM

(C) Purity of water (D) Air pressure
74. 'What percentage of Population in India lives inurbam areas 2

(A) 31 (B) 25

(C) 40 (D) 42

75, Which of the following is the apex authority for disaster management in India ?

(A) NIRM (B) NDRF
(C) NDMA (D) NDA
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